ST. ANDREWS SCOTS SCHOOL

Adjacent Navniti Apartments.
L.P. Extension, Patparganj, Delhi-110092

(Session 2025-26)

Subject: Mathematics Class: 111 Ch- 4 (Multiplication)

Questions to be done:

Warm up (Pg- 51)
Practice time (Pg-60) book

Ex1- Book

Ex2- Q.1 (a,d,g,f,i) Notebook
Q.2 (a,c,e,g) Notebook

Ex3- Q.1 (a,b,f) Notebook
Q.2 (b,c,e) Notebook
Q.3 (b,c,d) Notebook

Ex4- Q-1, 3, 4, 6, 7 Notebook

Ex5- Q-1, 3 Notebook
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Exercise-2
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Practice Time
1. @0 (b) 1 (c) 57 dO0 (e 457 (H9
2. (2)3x10=30 (b) 10x 27 =270
() 40x4=4x10x4=4x4x10=16x10=160
(d) 12x80=12x8x10=96x10=960
(e) 8x1000=8000 (f) 100x61=6100



10.

Exercise-4
Price of one shirt =% 295
Total price of 32 shirts =% 295 x 32 =¥ 9440
So, Roy will get T 9440.
Number of books in a cupboard = 1055
Total number of books in 8 cupboards =1055 = 8
= 8440
So, total number of books in the library is 8440.
Number of pages in a newspaper = 28

Total number of pages in 45 newspapers = 45 x 28

= 1260
So, Raj has 1260 pages.
Cost of 1 dozen guavas =396
.. Cost of 15 dozen guavas =% 96 x 15
=< 1440

So, Mamta will pay ¥ 1440 to the shopkeeper.

Quantity of rice in a bag = 32 kg

Total quantity of rice in 256 bags = 256 x 32 kg
= 8192 kg
So, the total weight of rice in the truck is 8192 kg.

Number of chocolates in a box = 48
.. Number of chocolates in 36 boxes = 48 =< 36
= 1728
So, there are 1728 chocolates in 36 boxes.
The price of one notebook =¥ 28
The price of 2 dozen (= 24) notebooks =% 28 x 24
T 672

So, the shopkeeper will make T 672.
Number of stickers pasted on one page = 35
.. Number of stickers pasted on 15 pages
=35 x 15 =525
So, Sujata pasted 525 stickers in all.
Number of desks in one classroom = 24
Total number of desks in 18 classrooms =24 x 18
= 432
So, the total number of desks is 432.
Number of balls in a box = 145
. Number of balls in 65 boxes= 145 x 65 = 9425
So, there will be 9425 balls in 65 boxes.
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Exercise-5
1. 35isrounded off to the nearest tens as 40.

Estimated product Actual product
Q0
40 3 5
x 8 x 8
320 280

2. 48isrounded off to the nearest tens as 50.

Estimated product Actual product
Q0
50 48
X 6 X 6
300 28 8
3. 52isrounded off to the nearest tens as 50.
Estimated product Actual product
©0
50 5 2
% 7 x 7
350 364
4. 73isrounded off to the nearest tens as 70.
Estimated product Actual product
©0
70 73
x 9 x 9
630 657
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